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QUESTION 1

What statement regarding the VRS-G is FALSE?

A. The VRS-G is the software VXLAN/VLAN gateway of the Nuage VCS solution.

B. The VRS-G is deployed on a hypervisor, following the same deployment requirements as a regular VRS.

C. Virtual machines created on the hypervisor are attached to access ports on VRS-G.

D. The network ports on VRS-G point towards the Nuage overlay VXLAN network.

Correct Answer: B

This permits the bridging of the hypervisor-focused overlay networking and physical devices in the data center.

Reference: https://jujucharms.com/nuage-vrsg/

QUESTION 2

Which of the following is a solution to create virtual machines in which the server runs the hypervisor as a specialized
operating system and, as a consequence, there is no need for a conventional operating system?

A. Kernel

B. Container

C. Native hypervisor
D. Hosted hypervisor

Correct Answer: B

QUESTION 3

On which Kubernetes node is the Nuage-kube-mon component installed?
A. On the worker node.

B. On the master node.

C. On the network node.

D. On a dedicated gateway node.

Correct Answer: A

QUESTION 4
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What statement is TRUE regarding service chaining provided by Nuage VCS?
A. Service chaining is flow-based traffic redirection.

B. Service chaining only works for virtual appliances.

C. A virtual firewall is required to perform service chaining.

D. It consists of packets being forwarded by the local VPLS, then through the enterprise VPRN and lastly the backhaul
VPLS.

Correct Answer: B

QUESTION 5

Which statement about SDN is correct?

A. Network control is fully integrated into the forwarding plane.

B. SDN supports cloud computing by automating virtual machine instantiation.
C. The API interface provides a way to program the SDN switch directly.

D. The SDN controller provides global provisioning of network devices.
Correct Answer: B

Reference: https://searchnetworking.techtarget.com/definition/software-defined-networking-SDN
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